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CBT Practice test model answers
Business Tax (BTX)

Practice assessment 2 FA 2010(2)

Section 1
Task 1.1
[image: image2.png](a) Show whether each of the following is true or false.

‘The cost of restoring an assetto ts original state is usually revenue based.

Tue

False

Prepaid rentis capital based.

(b) Show which one of the following statements is correct.

A second hand printing machine is revenue based.

Vehicle hire costis capital based.

“The wite-of of an imecoverable debt i revenue based.

Premiums to insure afactory unit are capital based.






Task 1.2
[image: image3.png]For each of the following expenses, pick the correct treatment in relation to the computation of the taxable profit.
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Task 1.3

[image: image4.png]‘Toby has been in business for many years with a year end of 30 September and has overlap profit of £7.,600.
“Toby ceased trading on 31 December 2010. Taxable profts have been as follows:

Year ended 30 September 2010:  £46,800
Period ended 31 December 2010:  £24745

Using this information, calculate the following figures:

() Profits forfinal year of rading & [r1585
(b) Overlap £ [800
(©) Totaltaxable profits £ [s3045

(d) For each of the following statements, tick i they are true or faise.

Tue  Faise

‘Overlap profits are only calculated if a business does not have a 31 December year end.

Overlap profits can change a closing year profitinto a loss

A partner can only claim overlap relief ifthe business ceases to trade.





Task 1.4

[image: image5.png]Totte Ltd made an adjusted trading loss of £455,600 in the year ended 31 May 2010. The company has the
policy ofrelieving trading losses as early as possiole. The results for the pastthree years are:

[Trading profts 312,000 175,300) o
Income from property 10,000) 10,000) 10,000|
322,000 185,300) 10,000|

Complete the sentences below. If the answer is zero, enter 01n the box.

The amount ofloss relieved in 2010is: £ [10000

The amount ofloss relieved in 2009is: £ [185300

The amount ofloss relieved in 20081s: £ [50000

The amount of aloss to cany forwardis: £ [210300





Task 1.5

 [image: image6.png]Cai was a sole trader, her accounting year end being 31 March. On 1 January 2011, Wei joined her as a partner.
From that date, they shared profits in the ratio of 213 for Cai and 1/3 for Wei. From 1 January 2011, Cai also
received an annual salary of£18,300. The taxable profitfor the year ended 31 March 2011 was £58,200.

(a) Calculate the division of profit. I the answer s 7ero you must enter 0 n the box to gain full marks.

|satary 4575 0
|Proft 8650 3325
[Total for e year 54875 3325

Carrie and Jim are in partnership with an accounting year end of 31 August. The partnership agreementis
changed on 1 April 2010 to allow interest on capital of §% per annum to be paid. Carrie has capital of£18,000
‘and Jim has capital of £12,000,

(b) The interest on capital for the year ended 31 August 2010 would be:

carie: £ [375

Jim: £ [250

‘The interest on capital would

B the profit divsible between the pariners





Task 1.6
[image: image7.png]Trading profits
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Task 1.7
	
	AIA /

FYA
	
	General pool
	
	Nissan 

car
	
	
	Total allowances

	b/fwd
	
	
	108,700
	
	
	
	
	

	Non-AIA additions
	
	
	17,400
	
	
	
	
	

	
	
	
	126,100
	
	
	
	
	

	
	
	
	
	
	21,700
	
	
	

	Disposals
	
	
	(15,800)
	
	(18,900)
	
	
	

	Balancing allowance
	
	
	
	
	2,800
	
	
	2,800

	
	
	
	110,300
	
	
	
	
	

	WDA @ 20%
	
	
	22,060
	
	
	
	
	22,060

	
	
	
	88,240
	
	
	
	
	

	FYA addition
	25,080
	
	
	
	
	
	
	

	100 %
	25,080
	
	
	
	
	
	
	25,080

	
	
	
	
	
	
	
	
	

	AIA additions
	37,000
	
	
	
	
	
	
	

	
	19,700
	
	
	
	
	
	
	

	
	56,700
	
	
	
	
	
	
	

	AIA - maximum
	50,000
	
	
	
	
	
	
	50,000

	
	6,700
	
	
	
	
	
	
	

	
	2,680
	
	4,020
	
	
	
	
	2,680

	
	
	
	
	
	
	
	
	102,620

	
	
	
	92,260
	
	
	
	
	

	
	
	
	
	
	
	
	
	


Section 2
Task 2.1
[image: image8.png](a) Tick the appropriate boxes to show whether the following statements are true or false.

A capital loss arising on a disposal to John's brother can be set against any other capital gains arising in the same tax year.

True

False

A capital gain on a disposal by Maryto her husband will be calculated at market value.

True

False





Task 2.2
[image: image9.png]Fergus purchased a Chinese vase for £8,600.

(a) For the sales proceeds given below, show the allowable loss.

Sale proceeds: £6500  Loss: £[2100)

Sale proceeds: £3500  Loss: £[2600

(b) Complete the following sentence.

Gains on the disposal of non-wasing chattels are exemptirom taxwhere the
proceeds on disposal are £[5o00 ] orless,

Assume that Ais the disposal proceeds of the part disposed of, and B s the market value of the partretained.

(c) Complete the following computation for part disposals.

[

xTotal oforiginal cost = Allowable cost of part disposal






Task 2.3
	  
	No of 

shares
	£
	£

	December 2001
	6,000
	18,000
	18,000

	IA June 2004 .077
	
	
	1,386

	
	
	
	19,386

	RI
	1,000
	4,000
	4,000

	
	
	
	23,386

	IA Jan 2011 22.6
	
	
	5,285

	
	7,000
	22,000
	28,671

	Sold
	7,000
	22,000
	

	
	
	
	

	Proceeds
	35,000
	
	

	Cost
	28,671
	
	

	Gain
	6,329
	
	

	
	
	
	


Task 2.4

[image: image10.png]In2010/11 Malcolm made capital gains of £18,000 and capital losses of £22,000.
After applying his annual exemption he will have losses to carry forward of £14,100.

True  False

Jack gave his son Mark an antique table with a market value at the date of the gift of £46,000.
He originally paid £15,000 for it at an auction. Mark's deemed cost will be £46,000.

Fern who is a higher rate taxpayer sold her printing business in 2010/11 making a gain of
£3,000,000. She will pay capital gains tax at 28% on £2,989,900.

Mary has made capital gains of £18,000 in 2010/11. She has losses brought forward of
£19,600. She has losses of £1,600 to carry forward to future years.






Task 2.5
[image: image11.png]‘Acompany bought a building for £80,000 in 2007. In 2010, this building was sold for
£130,000. Another building was bought atthe same time as the disposal

Link each cost of the new building below to the appropriate amount of rollover relief by
clicking on the left hand box and then on the right hand box. You can remove aline by
clicking on it.

Cost Amount of rollover relief
20

£120,000 £10,000
£20,000

£100,000
£30,000

£160,000 £40,000
£50,000





Task 2.6
[image: image12.png]‘The table shows the taxable profits for four taxpayers.

Using this information, compute how much Class 4 National Insurance is payable for each taxpayer.
Your answers should be in pounds and pence. I the answer s zero, enter 0 in the relevant box.

Taxable
profits

i 5500 0

lBob. 10,500) 38280

|carole 40,000 274280

|Daniel 50,000 311405





Task 2.7

[image: image13.png]Ali has made net capital gains of £24,800 in 2010/11. He also has other nettaxable income, after personal
allowances, 0f£32,000.

Calculate the tax payable on his capital gains. Show your answer in whole pounds only.

|Gains. 24800
|annual exemption 10100
[Taxable gains 14700
[Taxpayable at 18% o2
[Taxpayable at 28% 2604
[Totaltax payable 3878





Task 2.8

[image: image14.png](Complete the following sentences relating to corporation tax.

A company has PCTCT of £1,300,000 and net dividends of £225,000. The tax payable would be calculated
at [28%. v |

A company has PCTCT of £1,000,000 and net dividends of £225,000. The tax payable would be calculated

at [28% less marginal relief. v |

‘A company has PCTCT of £300,000 and net dividends of £27,000. The tax payable would be calculated

at [28% less marginal relief. [~ ]

‘A company has PCTCT of £200,000 and net dividends of £27,000. The tax payable would be calculated
] CE— |

Acompany has PCTCT of £1,000,000 and net dividends of £225,000. The company has one associated company.
‘The tax payable would be calculated at [28%.

A company has PCTCT of £500,000 and net dividends of £180,000. The company has one associated company.

‘The tax payable would be calculated at [28% less marginal relief. =

Acompany has a nine month accounting period and no associated companies.
‘The upper eamings limit used in the corporation tax computation would be: £ [1125000

A company has aten month accounting period and one associated company.

‘The lower eamings limit used in the corporation tax computation would be [125000

and the upper eamings limit would be [525000






Task 2.9
[image: image15.png]Complete the following sentences relating to the late payment of income tax.

When a balancing paymentis unpaid for more than [28 n days after [the due date, n
a surcharge will arise which is [5 9% of the amount unpaid.

Ifthe above amount s sillunpaid after more than [l months after the due date,

afurther iﬂ % surcharge will be imposed.
Surcharges [donot Rl applyto payments on account






Task 2.10
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